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1.1 —Hr&mn e
1 Bl = coszr yo — e YT MEFUOT TR, W %R

2. Wy = e %, yo = 20Y" +ay’ + by + cy = OFIfE, Ka,b,c (W[, P
108, — 1, P. 116, — 2).

3. y(x)Ey"” + vy = OFIfR H Za — OB B2 55/, Ky(x) (5], P.
106, — 1),

4. CHy" + p(a)y +q(z) = f(o)FI=DREN =25 o = €75 yz = B
Ky(0) =1, y/(0) = 3BIFHE(ZS W[5], P. 114, =),

5. %@%&f(m)?;*ﬁ&f”(m) + ['(x) = 2f(x) = 08 f"(z) + f(2) = 2" R [ () ([,
P. 13, —. 4),

6. RITFEY" +y = x cos 2z & 25 Fy(0) = 0Ly (0) = ORIFRHE (], P. 20, /3),
7. R TRy — 4y + 4y = e** + sin 22 ([B], P. 113, =),

8. Ty, = ze® + e, yy = xe® +e™%, y3 = xe® + e? — e T T R
AEFF IR T RERI AR, R TTFE.

1.2 (I
1. RT3y — 22y + xy = 2% + 1HEFE
2. W f(z)7E[0,00) EH R, £(0) = 1HIH 2

f@+M%tbfmw:

(1) Kf'(z), (2)EH: e < f(z) < TR > 0L,
3. W f(x)HiES—M 3, H Mz > 0B e
flx)=—-14z+2 /m(x —t)f(&)f'(t)dt
0
Kf(x) (B[, P.117, TU),
ex

4RI +y — 2y = A




